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12.5 Honors Geometry DATE: S\2¢ E
L]
VOLUME Formulas
Volume of a Prism V = Bh Volume of a Pyramid V= % Bh B
1 .,
Volume of a Cylinder V = nreh Volume of a Cone V =§m"‘h
r 4 3
Volume of a Sphere V=—nr
B = area of the base, r = radius, h = height (altitude)
Discovery Activity
Ea
Find the volume of the prism. Find the volume of the cylinder.
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Find the volume of the pyramm Find the volume of the cone.
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Find the volume of the pyramid. Find the volume of the cone. AR
by polziz \“’,h‘ﬂ""
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Find the ratio of the volume of the pyramid to the | Fing the ratio of the volume of the cone to the
volume of the prism. volume of the cylinder. B
Ay -
R-ﬁ‘{"u . = Ji Q . i = 1
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What can you conclude? What can you conclugie?
If & pPrrsm oond o F‘,""'- ha ve Saame —-lz-l-c.'-rlrnicf = Cowneg
The sama base dimensions and ¢
hete b, +h \ yiinder = 3 conds
4T, en —i?rism = Pyrc.mtcl S —_—
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Examples
If the volume of a cone is 24 cubic inches. What is the volume of a cylinder with the same base
and height as the cone? .
243 =732 ¢cv.n
If the volume of a cylinder is 47 cubic feet. What is the volume of a cone with the same base and
height as the cone?
>
If the volume of a prism is 450 cubic centimeters. What is the volume of a pyramid with the same
base and height as the prism? B
o
q450 - |50 cv.em
3
If the volume of a pyramid is 15 cubic meters. What is the volume of a prism with the same base -
and height as the pyramid? —
9 PY 1§ % = L,'_-, cJ, m
. A pyramid has a square base with a di- 6. A rocket has the dimensions shown. It
agonal of 10. Each lateral edge measures 60% of the space in the rocket is needed
13. Find the volume of the pyramid. for fuel, what is the volume, to the near-
est whole unit, of the portion of the
rocket that is available for nonfuel items?
s 50
I | /) i - E
e el X [ ) [ A "
A by 16 | J i o
I\\ / o i I| ' ‘/
\J. 10 * \ / ) i ¥
Page: 2 0f 2 | Words: 222 | 6 | |[ElER = = ue o (+)




May 28 2014 H.gwb - 4/4 - Wed May 28 2014 11:52:49

™ R R e Ao W 12.5 Notes with formulas [Compatibility Mode] - Microsoft Word = 53
Home Insert Page Layout References Mailings Review View MathType Design Layout 9
&
5. A pyramid has a sguare base with a di- 6. A rocket has the dimensions shown. If i~
agonal of 10. Each lateral edge measures 60% of the space in the rocket is needed
13. Find the volume of the pyramid. - q for fuel, what is the volume, to the near-
5 L est whole unit, of the portion of the
\e ::’ X, Ki"—' raocket that is available for nonfuel items?
R lo V= Voo * Veone
' cyi Cen
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oG =T(3)™ (50) + FT(3) (15)
G R Cuel
= 5\a 0%/0 nOV" = 3200 W+ 3207
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7. Use the diagram al the right to find L) 15/ 12 5{?} e
a x fs- q =
b The radii of 1]1.1* circles - 20 15'\1. B
¢ The volume []il the smaller cone ||I-' ! e A
d The volume of the larger cone T —_ -
e The volume of the frustum L a L
Q) 3w
- >
;! AI‘L ~ *A 20 = L4 v
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Xll = ey = l:_,( X+ Io) ) 5 W(s) (20) Er~p i
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L+ [V e . o
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